201-NYB (S) Final Exam — December 2001 Answers

1. A=2-2In2

J7
2. (a) 27 (b) 7r/ sin?(2?) dx
0
3. = \/57571 e** — arcsec(y/x) 2e**
) etr
4. (a) e (2sina —cosx)+ C (b) %(1—%)3—%0
(c) iarcsin(ll:z;) +C (d) é:z; — 91—6 sin 122 + C
() —Inlda — 1|+ 2In(z*+ 1)+ C (f) In(1 ++/2)
5. (a) —2 (b) —3 (c) 0
6. (a) Diverges: = oo (b) Converges: = 2
7. y=In(x—1In(z+1)+e)
8. Diverges (oscillates “£17).
9. 1
10. (a) Converges (RT) (b) Diverges (LCT with 3> 1)
(¢) Converges (/' T) (d) Diverges (LCT with 3° )
1. (a) AC (JT or LCT) (b) D (nTT)
12. —32<z<-2
13. M.S.: 1 +2zx 422 +3ri+ st 4 = ’
= n!

Radius of convergence = oo



